Phys101 —Sec # 40(C~J$iz # 12 (Chapter 15)
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1- A 0.4-kg mass attached to a spring of force constant 40 N/m vibrates with a simple
harmonic motion of amplitude 10 cm. Calculate

the shortest time that is taken by the
mass to move from x =0 to x =10 cm. [0.157 s}
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2- A mass of 1.0 kg connected to a light spring of force constant 30 N/m oscillates on a
horizontal frictionless surface with magnitu

de 3 cm. Find the kinetic energy of the system
when the displacement equals 2 cm. [7.5%10%*(-3) J]
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3- A particle at the end of a spring executes simple harmonic motion with an amplitude of
4.0 cm. At what displacement () will its spee

d be equal to one half its maximum speed?
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